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Condi tional pro babi lfby :

The Conditional probab;'//ty of an event
se defined as,
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l. P(ANB) = P(A)-P(B)
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p(e>= P [(AnB) U (A nay)]

P(ANB)
= P(8)— PCAIP(B)  (from D)
P(B) [1— P(A)]
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" A and B are fndqpendenb.
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K. p(AnB) = P(AI.P(B) A&
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Consider, (,/ '%ne\}i )
A= (AnB) U (ANE) X
_ "
pca) = PLCANBOV (ANB) ] Y s T
= P(ANB) + P(ANG)
P(ANB) « P (A)— P(ANS)
= P(A)— PLAIPIB)
= Pta) [1— PIB)]
B(An B ) = P(CA) pP( g)‘] A and B are Tndependent
T= FlanEre PUAY FIR) A ~.E
Congider / ‘
P(ANE) = Pl(Aum) (by Demer ‘*,":W'\/'
=1—-— P(AUSB)
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b == [ PcA)+ PECBY—~ P(ANB)]
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(= [ PtA)+ P(B)— P(A>-P(BI]

-—

L PIA)=~ PLBYI PCAD - P(B)
PCA) — Ple) [1—pcarT]
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@ From « bag Containing 5 whike balls and 6 green ba
3 balls ave dvawn with 'YePIacemenl:, What is +he chanca
Ehat (i) all are of <Same cColour (,‘;’) they ave alternativel

of different Colours .

Solution -

S= {5w, b6 ]
) P( all are of Same Colou7r)
= P(al ave white oy al ave green)

= P(all ave white) —+ P (all are gveen)

i

P(IN Tw IIW) + P(IT6 I W6

= 5 x5 xS _ + b x b x b

1 1 1 T ) 7

= t25" 4 216
13 3] t33 1
= 3 ki
(53]

(1) P (they are alternatively of different Colours)

P——

= P(TW T G T W oy TG I W T &)

- 5 x b x5 4+ 6 x_5 x

b
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B = —

T 1 0 (' 1 "
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@ IFf A and B ave evenes with PCA)> = 3 P(B) = _1
g 2
and PCANB) = 1, Find P(A“nB
‘.r.
Soln : .
e — n
PCAUB) = p(A)+ P(B) — P(ANB)
= F ), — L. F =
g ) o+ g
¢
P EaCaEls Pl cAved T
= | — P(ABB)
- =5 = 3
4 g

@ LF P(A> = o-y p(g?):o_q, P(ANB) _—,-_0~3 ,-;Cind

P(ANB ) & P(AuB).

So[n-

: P(AvuB) = P(A)+ P(B)— P(ANB)
= 0.4 + 0-F— 0.3
= O’g

P(AnB )= P(AUVUB)

= | — P(AUB)

= | — 0.8

= 0. 2
PAMBD

| — PLRAETB)

PCAUB) =

o- 7
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